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Solved Examples

1.1f (2, -2) and (5, 2) are the opposite ends of a square, then the length of

the side of the square is

A.5
B. /5

C.5/2
D.5/2

Answer: D


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_k2xuzp1Vp2zU

° Watch Video Solution

2. If A2, 2), B(6, 3) and C(4, 11) are vertices of a triangle ABC and D, E are

the midpoints of BC and C A respectively, then the length of DE is

n @

o

Jaofs 5

Answer: C

o Watch Video Solution

3.If A, B, C are collinear points such that A=(3,4),B =(7,7) and AC =10

then C =

A. (5,2)



https://dl.doubtnut.com/l/_k2xuzp1Vp2zU
https://dl.doubtnut.com/l/_F7moiGMZGOU2
https://dl.doubtnut.com/l/_EIrlFXchNj2z

B. (-5, 2)

C.(-5,-2)

D. (5,-2)

Answer: C

° Watch Video Solution

1. The distance between the points (tana;, 1), (0, 2) is

A |tan o
B. [sec |
C. |cos o

D. |sinq|

Answer: B



https://dl.doubtnut.com/l/_EIrlFXchNj2z
https://dl.doubtnut.com/l/_jZTyEczt3alr

_ o Watch Video Solution

1. The distance between the points (cos 0, sinf), ( — sin#, cos ) is

Al

B.2
C.v/2

D. /6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jZTyEczt3alr
https://dl.doubtnut.com/l/_gks2EXdqxDfo

1If 7 /2 < 6 < 7 then the distance between the points (cot 6, 3), (0, 2)

is
A.secl
B. cosecl

C. —secf

D. — cosect

Answer: B

o Watch Video Solution

1. If the distance between the points (a, 2) and (3, 4) is 8 then a=

A. /60

B. — /60


https://dl.doubtnut.com/l/_6xxc3KHbEHlE
https://dl.doubtnut.com/l/_pAMYIIw7ajqj

C.3

D.3 + /60

Answer: D

° Watch Video Solution

1. If the distance between the points (acosf,asinf) and

(acos ¢, asing) is 2a,0 =

A2nt 1+ ¢,n e Z

T

B.
nmw + 5

+o,neZ
cnrt—¢,nec”Z

D.2nm + ¢,n € Z

Answer: A

| oo ]


https://dl.doubtnut.com/l/_pAMYIIw7ajqj
https://dl.doubtnut.com/l/_824UXRxYiIoF

| & Watch Video Solution I

1. Aline is of length 10 unit and one end is at (2, -3). If the abscissa of the

other end is 10. Then its ordinate is

A.9

B.3

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_824UXRxYiIoF
https://dl.doubtnut.com/l/_Et1A8LcDkDNV

1. The distance between two points is 5. One of them is (3, 2) and the

ordinate of the second is -1 then its x coordinates are

AT, —1

B.—7,1

-7, —1

D.7, 1

Answer: A

° Watch Video Solution

1. If the distance between the points (acos 48°,0) and (0, acos 12°) is d

then d? — a® =

Ad’(y/5-1)/4


https://dl.doubtnut.com/l/_jAZVqrhiPdmd
https://dl.doubtnut.com/l/_Fxb1FyU92NRF

B.a’(v/5+1) /4
Ca(y/5-1)/8

D.a*(\B+1)/8

Answer: D

° Watch Video Solution

1.IfA = (at2, 2at), B = (

A a
B.1/a
C.2/a

D.2a/3

Answer: B



https://dl.doubtnut.com/l/_Fxb1FyU92NRF
https://dl.doubtnut.com/l/_rRDJyixWw6ey

| ° Watch Video Solution

1. The point on Y- axis which is equidistant from (6, -1) and (2, 3) is

A (0, — 1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rRDJyixWw6ey
https://dl.doubtnut.com/l/_nJ35e8lZnsJF

1. The points (2, -2), (-1, 2),(3, 5) are the vertices of

A. equilateral triangle

B. isosceles triangle

C.right angled triangle

D. right angled isosceles triangle

Answer: D

o Watch Video Solution

1.The points (2, 4), (2, 6), (2 + /3, 5) are the vertices of

A. equilateral triangle
B. isosceles triangle

C.right angled triangle


https://dl.doubtnut.com/l/_9swvuPLDvf28
https://dl.doubtnut.com/l/_ONCsRYTD8PNC

D. right angled isosceles triangle

Answer: A

° Watch Video Solution

1. The points (7, 9) (3, -7), (-3, 3) are the vertices of

A. equilateral triangle

B. isosceles triangle

C.right angled triangle

D. right angled isosceles triangle

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ONCsRYTD8PNC
https://dl.doubtnut.com/l/_S5TMLhpuRkgZ

1. The three points (2, -4), (4,-2),(7,1)

A. are collinear

B. form an equilateral triangle

C.form aright angled triangle

D. form an isosceles triangle

Answer: A

° Watch Video Solution

1. If 21,29, x3 are in AP. and yi, ¥2,y3 are in AP. then the points

(1, 1), (22, ¥2), (23, y3)


https://dl.doubtnut.com/l/_IdcQrkxorPcJ
https://dl.doubtnut.com/l/_hlV0sUbEa8Ld

A. form a right angled triangle

B. form an equilateral triangle

C. form an isosceles triangle

D. are collinear

Answer: D

° Watch Video Solution

1.1f A(5,3), B(11, — 5), P(12, A) and ZAPB = 90°,then A =

A.2or3
B.3or4
C.2or-4

D.3 or-2


https://dl.doubtnut.com/l/_hlV0sUbEa8Ld
https://dl.doubtnut.com/l/_ANt4803jkq1u

Answer: C

° Watch Video Solution

1. If the points (0, 0), (3, 4/3), (z,y) form an equilateral triangle, then

(z,y) =
A (0,24/3), (3, —/3)
B. (1,2v3), (3,/3)

¢ (Lv3), (3 -3

D. none

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_ANt4803jkq1u
https://dl.doubtnut.com/l/_k5Zb5udOtjBQ

1.1f (3, 2), (-3, 2), (O, h) are the vertices of an equilateral triangle and h < 0

then the value of h is

A2— /3
B.2 —2,/3
C.2-3/3
D.3 —2,/3
Answer: C

° Watch Video Solution

1. If (2, 4), (2, 6) are two vertices of an equilateral triangle then the third

vertex is


https://dl.doubtnut.com/l/_31r7CZlT776g
https://dl.doubtnut.com/l/_zQSN3i1VfZ6I

A (24 /3,5)

B.(v3—2,5)

C. (5,2 ++/3)

D. (5,2 — /3)
Answer: A

o Watch Video Solution

1. If (2, 4), (4, 2) are extremities of the hypotenuse of a right angled

isosceles triangle, then the third vertex is

A.(2,2) or (4,4)

B.(3,3) or (4, 4)

C.(2,2) or (3,3)

D.(2,3) or (3, 2)


https://dl.doubtnut.com/l/_zQSN3i1VfZ6I
https://dl.doubtnut.com/l/_NUX6FtswF72W

Answer: A

° Watch Video Solution

1.If ABC is an isosceles triangle where B =(1,3) and C=(-2,7) then A=

A. (5/86,6)
B.(6,5/6)
C.(7,1/8)

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NUX6FtswF72W
https://dl.doubtnut.com/l/_sGlPu3jZXc1Z

1. If A(x, 4), B(1, -2), C(-3, 4) form an isosceles triangle with vertex at B then

X =

A3

C.3o0or-5

D.5o0r -3

Answer: D

o Watch Video Solution

1. If O is the origin and if A(z1,y;), B(zs,y2) are two points then

OA - OB - cos/Z/AOB =

2 2
Az + y;


https://dl.doubtnut.com/l/_cYTahHYWEqba
https://dl.doubtnut.com/l/_MzpxjXf1gEJH

B.z1ys + x2u1

Cxizo + 1Y

D.x1ys — o

Answer: C

° Watch Video Solution

1. If O is the origin and

OP - OQ cosZPOQ =
A.8
B.15
C.22

D.23

P = (273)7Q: (475)

then


https://dl.doubtnut.com/l/_MzpxjXf1gEJH
https://dl.doubtnut.com/l/_7iPgdTlYnXhD

Answer: D

° Watch Video Solution

1. If O is the origin and A(zy,v;), B(xs, y,) are two points then

OA - OB -sin/AOB =

Az?+yl —xz2—yl
B.z1x2 + Y1Y2
C.x21y2 + T2y

D. [Z1y2 — Toy1|

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7iPgdTlYnXhD
https://dl.doubtnut.com/l/_dsxc4FDIpuz0

1.If A=(1,1), B(4, 5) and C(6, 13) then cosA =

A.64/63
B.63/65
C.56 /36

D. 36 /56

Answer: B

° Watch Video Solution

1.If the vertices of a triangle A, B, C are A(0, 0), B(2, 1), C(9, -2) then cosB =

16
5v/17

A


https://dl.doubtnut.com/l/_sy4H0jE7ajf5
https://dl.doubtnut.com/l/_z0FRjyji18J6

B. ——
290
16
C.——
5v7
—11
D.——
290
Answer: D

° Watch Video Solution

1. The points (2, 5), (0, 3), (2, 1), (4, 3) taken in order, form

A. parallelogram
B. rectangle
C.rhombus

D. square

Answer: D



https://dl.doubtnut.com/l/_z0FRjyji18J6
https://dl.doubtnut.com/l/_wySDQnUq33bW

_ ° Watch Video Solution

1. The points (7, 1), (4, 4), (-2,-2), (1, -5) taken in order, form

A. parallelogram
B. rectangle
C.rhombus

D. square

Answer: B

° Watch Video Solution

1. The points (7, 8), (1, 6), (-1, 0), (5, 2) taken in order, form


https://dl.doubtnut.com/l/_wySDQnUq33bW
https://dl.doubtnut.com/l/_3N2RucLFZLZ7
https://dl.doubtnut.com/l/_I4wEcCDNESs2

A. parallelogram

B. rectangle

C.rhombus

D. square

Answer: C

° Watch Video Solution

1. The points (-5, 12), (-2, -3), (9, -10), (6, 5) taken in order, form

A. parallelogram
B. rectangle
C.rhombus

D. square


https://dl.doubtnut.com/l/_I4wEcCDNESs2
https://dl.doubtnut.com/l/_kmDPAqfIK18p

Answer: A

° Watch Video Solution

1. find the centroid of the triangle ( — a, — b), (a, b), (a3, ab)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kmDPAqfIK18p
https://dl.doubtnut.com/l/_KHOD0muRrIpM

1. If the distance of (4, 0) from (a, b) is double the distance between point

(0,0) and (a, b), then the relation between a and b is

° Watch Video Solution

1. The midpoint of a line segment is (-4, -2). If (-6, 4) is one end then the

other end is

A.(2,8)

B. (-2, 8)

C.(2,-8)

D. (-2,-8)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KQlz7pc8x0O9
https://dl.doubtnut.com/l/_eheostYjIJyR

1. If A(3, -4), B(7, 2) are the ends of a diameter of a circle and C(3, 2) is a

point on the circle, then the orthocentre of the AABC'is

A. (3,-4)

B.(7,2)

C.(5,-1)

D. (0, 0)

Answer: C

° Watch Video Solution

1. If the midpoint of the line joining (z,y+ 1) and (z + 1,y + 2) is

(3/2,5/2) then the midpoint of the line joining


https://dl.doubtnut.com/l/_x8zpoyQjh3al
https://dl.doubtnut.com/l/_I064RQDq7UX1

(11—1,y—|—1),(:13+1,y—1)i$

A (-1,-1)
B.(-1,1)
C.(1,-1)

D.(1,1)

Answer: D

° Watch Video Solution

1. The points which divide internally and externally the line segment

joining the points (1, 7), (6, -3) in the ratio 2: 3 are

A. (3,3) (15,15)

B. (3, 3), (-15, -15)


https://dl.doubtnut.com/l/_I064RQDq7UX1
https://dl.doubtnut.com/l/_vMs1YFA5eAaC

C.(3,3),(-9,27)

D. (-3,-3),(9, 27)

Answer: C

o Watch Video Solution

1. The points of trisection of the line segment joining (-5, 2),(3,6) are

A.(27/5,7/5), (15, 23)
B.(—7/3,10/3), (1/3,14/3)
C.(—1,24/7),(—23/3, —4/3)

D. (3, 1), (0, 5)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vMs1YFA5eAaC
https://dl.doubtnut.com/l/_1VWuEJyZ25sh

1. The coordinates of the point that is two thirds away from (-4, 3) to (5, 7)
is

A (—2,29/5)

B.(7/5,27/5)

C.(2,17/3)

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1VWuEJyZ25sh
https://dl.doubtnut.com/l/_dBrZoyX1sYGg

1. If A, B, C are collinear points such that A = (3, 4), B =(7,7) and AC = 10

then C =

A. (5,2)

B.(5,-2)

C.(-5,2)

D. (-5, -2)

Answer: D

o Watch Video Solution

1.1f (2,-3), (-2, 1) are the points of trisection of A, B then A and B are

A (61 _7)9 (-69 5)

B. (6,-7), (-6, 4)


https://dl.doubtnut.com/l/_rydYtthtqatw
https://dl.doubtnut.com/l/_VGRIyGqrimWz

C.(5,-7), (-6, 4)

D. (5,7), (-6, 5)

Answer: A

° Watch Video Solution

1. The point which divides the Iline segment

(a + b,a —b), (a — b,a + b) in the ratio a: b externally is

A a? —2ab— b a®+ b
' a—2> " a—0»

8 <a2—i—2ab—b2 a2+bz>

a—> " a—0b
c (a2—|—2ab—|—62 (a—l—b)2>

a—>b " a—0»

Answer: A

joining

[ -



https://dl.doubtnut.com/l/_VGRIyGqrimWz
https://dl.doubtnut.com/l/_3OCk3LWcVgPH

| @ Watch Video Solution

1. The fourth vertex of the rectangle whose other vertices are (4, 1), (7, 4)

(13,-2) is

A. (10, -5)

B. (10, 5)

C.(-10, 5)

D. (-10, -5)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3OCk3LWcVgPH
https://dl.doubtnut.com/l/_jsTFIdy4jbTy

1. The fourth vertex of the square whose consecutive vertices are (2, 1), (4,

3),(-2,5) is

A (2,-2)

B.(17,13)

C.(-4,3)

D. (6, 9)

Answer: C

° Watch Video Solution

1. The extremities of a diagonal of a parallelogram are the points (3, -4)

and (-6, 5). If the third vertex is (-2, 1) then the fourth vertex is

A.(1,0)


https://dl.doubtnut.com/l/_kq2eGprdbucI
https://dl.doubtnut.com/l/_6KtfgKltYDgU

B.(-1,0)

c.(1,1)

D. (-1,-1)

Answer: B

° Watch Video Solution

1. Taking AB, AD as axes, the coordiantes of the point C when ABCD is a

square of side a is

A (a, a)

B. (1, 2a)

C.(2a, 2a)

D.none


https://dl.doubtnut.com/l/_6KtfgKltYDgU
https://dl.doubtnut.com/l/_GYbMaeBPBuYO

Answer: A

° Watch Video Solution

1. Taking AB, AD as axes, the coordinates of the point C when ABCD is a

rectangle of sidesaand b is

A. (a, b)

B. (a, 2b)

C.(2a,b)

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GYbMaeBPBuYO
https://dl.doubtnut.com/l/_NMgUNbHb26iq

1. ABCD is a square of side 2a. Taking the centre of the square as origin
and axes parallel to the sides AB and AD. The coordinates of the vertices

of the square are

A (aa a), (aa O)a (-aa a)a (aa _a)

B. (a, a), (a, -a), (-a, -a), (-a, a)

C.(a, 0),(a, a), (-a, -a), (-a, a)

D. none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AHJlRvllQJmh

1. Two opposite vertices of a square are (1, -2) and (-5, 6) then the length

of the side is

° Watch Video Solution

1. A square has two opposite vertices at the points (2, 3) and (4, 1). The

length of the side is

A0

B.1

C.3

D.2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Uq53VlHsc3xa
https://dl.doubtnut.com/l/_k6TP9XJyJfzL

1. If (2,1), (-2, 5) are two opposite vertices of square then the area of the

square is

A4

B.12

D. 36

Answer: C

° Watch Video Solution

1. ABCD is a rectangle. If A = (2, 3), C = (8, 11) and BD is parallel to y-axis

then B and D are


https://dl.doubtnut.com/l/_D8dfksvaRX6p
https://dl.doubtnut.com/l/_bvuJ2qkiVTV9

A. (5,12),(5,2)

B.(3,9),(3,2)

C.(7,5),(7,15)

D.(12,5),(2,5)

Answer: A

° View Text Solution

1. The centre of the circle passing through (2, 3), (5, 3), (5,-1), (2,-1) is

A (2,-1)
B. (5,-1)
C.(2,3)

D.(7/2,1)


https://dl.doubtnut.com/l/_bvuJ2qkiVTV9
https://dl.doubtnut.com/l/_MkEdPgvheD74

Answer: D

° Watch Video Solution

1. x-axis divides the line segment joining (2, -3), (5, 7) in the ratio

Al1:2
B.3:7
C.4:5

D.3:4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MkEdPgvheD74
https://dl.doubtnut.com/l/_LgWVVUQfcEre

1. y-axis divides the line segment joining (3, 5), (-4, 7) in the ratio

A 1:2

B.3:7

C.4:5

D.3:4

Answer: D

o Watch Video Solution

1. The ratio in which (2, 3) divides the line segment joining (4, 8), (-2, -7) is

A.2:1 externally

B.2:3

C.4: 3 externally


https://dl.doubtnut.com/l/_aMzSfhFS9r6O
https://dl.doubtnut.com/l/_DQuhdAbG1oPq

D.1:2

Answer: D

° Watch Video Solution

1. The harmonic conjugate of (7, 5) wrt (4, 2),(9,7) is

A.(2,5)

B.(-3,2)

C.(-8,-14)

D. (19, 17)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DQuhdAbG1oPq
https://dl.doubtnut.com/l/_HQEpS47l2cai

1.If Q is the harmonic conjugate of P w.r.t. A, B and AP =2, AQ = 6 then AB =

A5

B.1

C.3

D.2

Answer: C

° Watch Video Solution

1.If A and B are the points (-3, 4), (2, 1) then the coordinates of point C on

AB produced such that AC =2BC are


https://dl.doubtnut.com/l/_XBWZnTCuRpbP
https://dl.doubtnut.com/l/_Evv75gWiDdAU

A.(2,4)
B.(3,7)
C.(7,-2)

D.(—1/2,5/2)

Answer: C

o Watch Video Solution

1.P=(-5,4) and Q = (-2, -3). Ifﬂ) is produced to R such that P divides Q—R

externally in the ratio 1: 2, then R is

A. (1,10)

B. (1,-10)

C.(10,1)

D. (2,-10)


https://dl.doubtnut.com/l/_Evv75gWiDdAU
https://dl.doubtnut.com/l/_XByv6GJAjQwF

Answer: B

° Watch Video Solution

1.P and Q are points on the line joining A(-2, 5), B(3, -1) such that AP = PQ =

QB. Then the mid point of PQ is

A(1/2,2)

B.(—1/2,4)

C.(2,3)

D. (1, 4)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XByv6GJAjQwF
https://dl.doubtnut.com/l/_lkQqcBop3mVF

1. If P, Q are the points of trisection of A(1, -2), B(-5, 6) then PQ =

A.10
B.5
c.10/3

D.5/2

Answer: C

° Watch Video Solution

1. If P(-1, 4), Q(11, -8) divide AB harmonically in the ratio 3:2 then A, B in

order are


https://dl.doubtnut.com/l/_qQTlZMsON6hb
https://dl.doubtnut.com/l/_71KNyvvUxzDg

A (-4,7),(1,2)

B.(1,2),(-4,7)

C.(7,-4),(2,1)

D. (2! 1)3 (73 _4)

Answer: A

° Watch Video Solution

1.If A=(1,-1),B =(-1, 3), C =(5, 1) then the length of the median through A is

A.34/2
B.2,/3
C. /10

D.2


https://dl.doubtnut.com/l/_71KNyvvUxzDg
https://dl.doubtnut.com/l/_ETSsj5BNJBeC

Answer: C

° Watch Video Solution

1. A(a, b) and B(0, 0) are two fixed points. M is the mid point of AB. M, is

the midpoint of AM;, Mj is the midpoint of AM, and so on. Then Mj is

A 7a 7b
8

15a 15b

16’ 16

(5
()
(5

63a 63b >

B.

N

D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ETSsj5BNJBeC
https://dl.doubtnut.com/l/_W7eAyzb1l7q3

1. The point whose coordinates are
z = +t(xy — 1),y = y; + t(y2 — y1) divides the join of (x, y) and

(29, yo) in the ratio

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_P13ZiN17kKju

1. If the point (z; + t[xzs — x1], y1 + tlys — y1]) divides the join of

(z1, y1) and (z2, y2) internally, then

At<O0

BO<t<1

Ct>1

D.t =1

Answer: B

o Watch Video Solution

1. Midpoints of the sides AB and AC of AABC are (-3, 5) and (-3, -3)

respectively, then the length of BC =

A.10


https://dl.doubtnut.com/l/_I8abYuGiplsc
https://dl.doubtnut.com/l/_MrAQrSfszMXt

B.15

D.30

Answer: C

° Watch Video Solution

IHHHH%%HHHI

1.A=(2,2),B=(6,3), C(4, 1) are the vertices of a triangle. If D, E are the

midpoints of BC, CA then DE =

A /17

1

B. —+/17

2

C.2¢/17

D.none


https://dl.doubtnut.com/l/_MrAQrSfszMXt
https://dl.doubtnut.com/l/_z31zoDSl1dYp

Answer: B

° Watch Video Solution

1. If the midpoint of the sides BC, CA, AB of AABC are (3,-3), (3,-1), (1,

1) respectively then the vertices A, B, C are

A. A1, 3), B(1, -1), C(5, -5)

B. A1, -3), B(1, -1), C(5, -5)

C. A(1, 3), B(1,-1), C(5, 5)

D. A(1, 3), B(1, 1), C(5, -5)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_z31zoDSl1dYp
https://dl.doubtnut.com/l/_p0e7H3NSfD70

1. The points D, E, F are the midpoints of the sides BC,CA, AB of
AABC respectively. If A=(-2,3),D = (1,-4), E= (-5, 2), then F =

A (4,3)

B. (4,-3)

C.(-4,3)

D. (-4,-3)

Answer: B

° Watch Video Solution

1. If A = (3, -4) and the midpoints of AB, AC are (2, -1), (4, -5) respectively

then the midpoint of BC is


https://dl.doubtnut.com/l/_O3HKiO1BXVX6
https://dl.doubtnut.com/l/_3h2pjEetM2o6

A.(1,2)

B.(3,-2)

C.(-1,2)

D. (O, -3)

Answer: B

° Watch Video Solution

1. The centroid of the triangle formed by (7, 4), (4, -6), (-5, 2) is

A.(2,3)
B.(2,-3)
C.(2,-1)

D. (2,0)


https://dl.doubtnut.com/l/_3h2pjEetM2o6
https://dl.doubtnut.com/l/_PQmVEr5FL444

Answer: D

° Watch Video Solution

1. If the centroid of the triangle whose vertices are (2, 4), (3, k) and (4, 2) is

(k, 3) then k =

Al

B.2

C.3

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PQmVEr5FL444
https://dl.doubtnut.com/l/_xFKFHlx7NSwd

1. The centroid of a triangle is (2, 3) and two of its vertices are (5, 6) and

(-1, 4). The third vertex of the triangle is

A (2,1)

B.(2,-1)

C.(1,2)

D. (1,-2)

Answer: B

° Watch Video Solution

1.1f G is the centroid of AABC, then

AG? + BG? + CG?

AB? + BC? + CA?



https://dl.doubtnut.com/l/_Zfnz28TDLBkb
https://dl.doubtnut.com/l/_owug6gxuFxZI

Al
B.3

c.1/3

Answer: C

o View Text Solution

1. If a vertex of a triangle is (1, 1) and the midpoints of two sides through

this vertex are (-1, 2) and (3, 2), then the centroid of the triangle is

NE
()
(
(

B.

N

L,

w| =

)

D17
"\3’3



https://dl.doubtnut.com/l/_owug6gxuFxZI
https://dl.doubtnut.com/l/_wcNTyUGGgwFo

Answer: C

° Watch Video Solution

1. The sun of the squares of the sides of a triangle is 32 then the sum of

the squares of the medians of the triangle is

A. 20

B.24

D. 26

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wcNTyUGGgwFo
https://dl.doubtnut.com/l/_tDKBimmRpkae

1.If (1, 2), (4, -3), (-2, 4) are midpoints of the sides of a triangle, then its
centroid is

A.(1,0)

B.(1,1)

C.(1,2)

D.(2,2)

Answer: B

° Watch Video Solution

1. The centroid of AABC is (2, 7). If the points B, C lie on x, y axes

respectively and A = (4, 8) then B and C are


https://dl.doubtnut.com/l/_ZJ0detyXM9CG
https://dl.doubtnut.com/l/_uXrdsa6F4XUh

A.B=(2,0),C=(0,13)

B.B=(0,2),C=(0,13)

C.B=(2,0),C=(10,0)

D.B =(0,0),C=(0,13)

Answer: A

o Watch Video Solution

1.In AABC, centroid = (2, 0). If (1, 3) is the midpoint of BC, then A =

A.(7,4)
B. (-5, 2)
C. (4,-6)

D. (-3,-2)


https://dl.doubtnut.com/l/_uXrdsa6F4XUh
https://dl.doubtnut.com/l/_9SawvULRvUUB

Answer: C

° Watch Video Solution

1. In triangle ABC, AD is median. If A = (1, 1) and D = (1, -5), then the

centroid of the triangle is

A (1,-3)

B. (-1,-3)

C.(-1,3)

D.(1,3)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9SawvULRvUUB
https://dl.doubtnut.com/l/_GhWOMAihIoAU

1. If the centroid of the triangle formed with (a, b), (b, c) and (c, a) is O(0
,0)thena® + 8+ = ...

A.O

B. abc

Ca+b+ec

D. 3abc

Answer: D

° Watch Video Solution

1.A(4, 1), B(7, 4), C, D are the vertices of a rectangle. If (8, 1) is the centroid

of AABC,then D =


https://dl.doubtnut.com/l/_IzJVjelWWHRq
https://dl.doubtnut.com/l/_HeNJXi8u9KW4

A. (13,-2)

B. (10, -5)

C.(-8,3)

D. (2,17)

Answer: B

° View Text Solution

1.If the lengths of two medians of a triangle are equal, then the triangle

is

A.right angled

B. equilateral

C.isosceles

D. scalane


https://dl.doubtnut.com/l/_HeNJXi8u9KW4
https://dl.doubtnut.com/l/_NYYd1941LTHr

Answer: C

° Watch Video Solution

1. The centroid of the triangle formed by (2, -5), (2, 7), (4, 7) is

A (2,-9)
B.(3,1)
C.(4,-1)

D.(8/3, 3)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NYYd1941LTHr
https://dl.doubtnut.com/l/_MDqONX8R3cbP

1. The circumradius of the triangle formed by (3, 7), (3,-2), (5, 7) is

A. /85
B.2,/85
C.,/85/2

D.,/85/2

Answer: C

° Watch Video Solution

1. The point of intersection of the perpendicular bisectors of the sides of

the triangle formed by the points (2, 1), (5, 2) and (3, 4) is

13 9
A (33)

13 9
. (T7)


https://dl.doubtnut.com/l/_2td1XpQZQOhP
https://dl.doubtnut.com/l/_dzslFpTf0sf9

Answer: B

° View Text Solution

1. The point P is equidistant from A(1, 3), B( — 3,5) and C(5, — 1),

then PA is equal to

A.5
B.5y/5
C.25

D.5,/10

Answer: D

| oo


https://dl.doubtnut.com/l/_dzslFpTf0sf9
https://dl.doubtnut.com/l/_HLMvsm5cPa3r

I & Watch Video Solution ]

1. The circumcentre of a triangle lies with in the triangle only when the

triangle is

A. acute angled triangle

B. right angled triangle

C. obtuse angled triangle

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HLMvsm5cPa3r
https://dl.doubtnut.com/l/_Lxljiu7yZMl0

1. The vertices of a triangle are (6, 6), (0, 6) and (6, 0). The distance

between its circumcentre and centroid is

A 22

B.2

D.1

Answer: C

o Watch Video Solution

1. The orthocentre of the triangle formed by (-1, -3), (-1, 4), (5, -3) is

A (2,7)

B.(—3, —4/3)


https://dl.doubtnut.com/l/_1FKJi22XN78r
https://dl.doubtnut.com/l/_aHBW0agmkJNd

C.(4,3)

D. (-1,-3)

Answer: D

° Watch Video Solution

1. The orthocentre of the triangle formed by (2, —1/2),(1/2, —1/2)

and (2, (v3—1)/2)is

A (3/2, (9v/3 — 3) /6)

B.(2, —1/2)

C.(5/4,(v3-2)/4)

D.(1/2, — 1/2)

Answer: B

| o


https://dl.doubtnut.com/l/_aHBW0agmkJNd
https://dl.doubtnut.com/l/_7Q5mJuvKpSh2

I & Watch Video Solution ]

1. Origin is the orthocentre of AABC where A = (5, -1), B = (-2, 3) then the

orthocentre of AOAC is

A. (-4,-7)

B. (3,-2)

C.(-2,3)

D. (5,-1)

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_7Q5mJuvKpSh2
https://dl.doubtnut.com/l/_Yp51TJoxOQcX

1. If O is the orthocentre of the triangle formed by A(1, -3), B(7, 2), C(2, 5)

then the distance between the orthocentres of ABOC, AAOB is

A. /65

B.2,/65
1

C. 5 /65

D.none

Answer: A

o View Text Solution

1. If origin is the orthocentre of a triangle formed bythe points

(cos @, sina, 0), (cos B, sin B, 0), (cos v, sin+, 0) then

Zcos(Qa —B—7) = -


https://dl.doubtnut.com/l/_k86ziuj4QMNK
https://dl.doubtnut.com/l/_ljiFPp7OP3sw

A.O

B.1

C.2

D.3

Answer: D

° Watch Video Solution

1. If A(3, -4), B(7, 2) are the ends of a diameter of a circle and C(3, 2) is a

point on the circle, then the orthocentre of the AABC'is

A.(0,0)

B. (3,4)

C.(3,2)

D.(7,2)


https://dl.doubtnut.com/l/_ljiFPp7OP3sw
https://dl.doubtnut.com/l/_aWNt5o4VnX0M

Answer: C

° Watch Video Solution

1. The incentre of the triangle formed by the points (0, 0), (5, 12), (16, 12) is

A. (6,9)
B.(7,9)
C.(6,7)

D. (9, 7)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aWNt5o4VnX0M
https://dl.doubtnut.com/l/_1BCLKEf29spM

1. The excentre of the triangle formed by the points (0, 3), (4, 0), (O, O)
which is opposite to (0, 0) is

A (3,1)

B. (6, 6)

c.(1,-1)

D.(3/2,5/2)

Answer: C

° Watch Video Solution

Exercise 100

1.1f (0,1/2),(1/2,1/2),(1/2,0) are the midpoints of the sides of a

triangle, then incentre of the triangle is

1 1
Al —, —
(x/i ﬂ)


https://dl.doubtnut.com/l/_ZiADelKVjqq0
https://dl.doubtnut.com/l/_3rFlzwkE07ds

1

B.|14+ —,1+ —
V2 ﬁ)

1 1
cll1l-—,1— —
V2 V2

1 1

D.|1+ —, 1 — —
V2R

Answer: C

° View Text Solution

1. The x-coordinate of the incentre of the triangle that has the

coordinates of mid points of its sides as (0, 1), (1, 1) and (1,0) is

Al+ 42
B.1— 42
C.2+4+ 42
D.2 —,/2


https://dl.doubtnut.com/l/_3rFlzwkE07ds
https://dl.doubtnut.com/l/_kKu7zqlAx3Rc

Answer: D

° View Text Solution

1. The vertices of a triangle are A(O, 0), B(1, 0) and C(O, 2). The point of

intersection of bisectors of internal angles is

1 1
A. ,
3+45 3+\/3>
2 2

\3+v5 3++5

P 1
3+v5 3++5

C( 1 p
‘\3+v6 3+.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kKu7zqlAx3Rc
https://dl.doubtnut.com/l/_cakXR558WpG6

1.If I, I, I3 are excentres of the triangle with vertices (0, 0), (5, 12), (16,
12) then the orthocentre of Al I 15 is

A.(7,9)

B.(6,7)

C.(9,7)

D. (6, 9)

Answer: A

° Watch Video Solution

1.If A=(2,3),B =(-2,-5), C=(-4, 6) and if P is a point on BC such that AP

bisects the angle A, then P =


https://dl.doubtnut.com/l/_euo312Fy5TQx
https://dl.doubtnut.com/l/_yA6yDFq8nogc

22 9
A'(‘T’?)
22 9

5. (7,7)
22 9
¢ <7’ —7>
22 9
D-<—7’ —7)

Answer: A

o View Text Solution

1. In AABC, the sides BC = 5, CA = 4, AB = 3. If A(O, 0) and the internal

bisector of angle A meets BC in D(12/7,12/7) then incentre of AABC
is

A (2,2)

B.(3,2)

C.(2,3)


https://dl.doubtnut.com/l/_yA6yDFq8nogc
https://dl.doubtnut.com/l/_gfzoPW5T1Nwz

D.(1,1)

Answer: D

° View Text Solution

Exercise 106

1. The perpendicular from the origin to the line joining the points

A(acos a, asina) and B(asin 8, a cos 3) divides AB in the ratio

Al:2
B.2:1
C.2:3

D.1:1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gfzoPW5T1Nwz
https://dl.doubtnut.com/l/_qpsD8hpbQj7n

Exercise 107

1. The foot of the perpendicular from origin on the line joining (3, -4), (-4,
3)is

A(1,1)

B.(-1,-1)

C.(1/2,1/2)

D.(—1/2, —1/2)

Answer: D

° Watch Video Solution

Exercise 108

1.The angles A,B and Care in AP.ina AABC.If AB =6,BC =7 then AC =



https://dl.doubtnut.com/l/_olAPh3njAZNE
https://dl.doubtnut.com/l/_qPjiN0iLjywH

A5

B.7

C.8

D.none

Answer: D

° Watch Video Solution

Exercise 109

1.Ina AABC, AB =6,BC=5and CA =4 and AP bisects the angle A. If P lies

on BC then BP =

A3
B.31/10
C.29/10

D.9/2


https://dl.doubtnut.com/l/_qPjiN0iLjywH
https://dl.doubtnut.com/l/_nR4Fnsxf3ZIT

Answer: A

° View Text Solution

1. If the orthocentre and circumcentre of a triangle are (2, -3), (5, 6) then

the centroid is

A (2,7)

B.(—3, —4/3)

C.(4,3)

D. (-1,-3)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nR4Fnsxf3ZIT
https://dl.doubtnut.com/l/_n09fazR7LP2g

1.1f (0, 1) is the orthocentre and (2, 3) is the centroid of a triangle. Then its
circumcentre is

A (3,2)

B.(1,0)

C.(4,3)

D. (3,4)

Answer: D

° Watch Video Solution

1. If the centroid and circumcentre of a triangle are (3, 3), (6, 2) then the

orthocentre is


https://dl.doubtnut.com/l/_UTCbG0rXaghQ
https://dl.doubtnut.com/l/_nxRZmJe1JKd9

A.(9,5)

B.(3,-1)

C.(-3,5)

D.(-3,1)

Answer: C

o Watch Video Solution

1. Origin is the orthocentre of the triangle formed by the points (5, -1), (-2,

3) and (-4, -7) then its ninepoint centre is

A(—1/3, —5/3)
B. (5, 3)
c.(1,1)

D.(—1/4, —5/4)


https://dl.doubtnut.com/l/_nxRZmJe1JKd9
https://dl.doubtnut.com/l/_vgGnH1klx1IB

Answer: D

° View Text Solution

1. If (3, -2) is the orthocentre and (-1, 4) is the circumcentre of AABC

then centroid of AABC'is

° Watch Video Solution

Exercise 115

1. The radius of nien point circle of the triangle formed by (6, 2), (4, 6),(0,

4)is

A\T/2
B. /2


https://dl.doubtnut.com/l/_vgGnH1klx1IB
https://dl.doubtnut.com/l/_RpWp0MBjnhcj
https://dl.doubtnut.com/l/_O3HVMuX7eJtD

C.\/5/V2

5
D. —

V2

Answer: C

o View Text Solution

1. The area of the triangle with vertices at (-4, -1), (1, 2), (4,-3) is

A 12

B.18

D.30

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_O3HVMuX7eJtD
https://dl.doubtnut.com/l/_0XsWdAVdI2Fr

Exercise 117

1. The area of the triangle formed by the points
(a,b+¢), (b,cta),(c,a+b)is

A. abc

B. 2ab

C.3abc

D.O

Answer: D

° Watch Video Solution

Exercise 118



https://dl.doubtnut.com/l/_0XsWdAVdI2Fr
https://dl.doubtnut.com/l/_S1d9wrShV1tH

1. The area of the triangle formed by (a + 3,a — 2), (a — 4,a + 5) and

(a,a) is

A .0

Answer: C

o Watch Video Solution

1. The area of the triangle formed by the points
(a,1/a), (b,1/b), (c,1/0) is

(a+b)(b+c)(c+ a)
2abc



https://dl.doubtnut.com/l/_yn44bwDk5ywm
https://dl.doubtnut.com/l/_i7CRNik2YTmL

5 (a—b)(b—c)(c—a)
2abc
c (a+b)(b—c)(c—a)
2abc
. (a+b)(b—c)(c+ a)
2abc
Answer: B

° Watch Video Solution

1. The area of the triangle with vertices

(a,0), (acosf,bsinf), (acosh, — bsinb) is
= ab
A. \/37
= ab
B. 2\/3I
C. |ab(1 — cos #)sin 6|

D. v/3ab


https://dl.doubtnut.com/l/_i7CRNik2YTmL
https://dl.doubtnut.com/l/_j1PSgKaEPowP

Answer: C

° Watch Video Solution

1. The area of the triangle with vertices (a, b), (ar, bs), (ar2, bsz) is
A ab(r —1)(s — 1)
B. |lab(r — 1)(s — 1)(s — )|
1
C. E[ab(r + 1)+ (s+1)+ (s —r)|

D. %'ab(s2(r —1) —r(s—1) + (s —1))|

Answer: D

° Watch Video Solution

Exercise 122


https://dl.doubtnut.com/l/_j1PSgKaEPowP
https://dl.doubtnut.com/l/_NgQQfuDB1G7n

1.If the area of the triangle whose vertices are (b, c) (c, a) (a, b) is p then
the area of the triangle whose vertices
(ac — b2, ab — 02) (ab —?, be — a2) and (bc —a?, ac — bz) is

A (a+b+c)?

B.p(a+b+c)

C.pla+b+c)?

D.none

Answer: C

o Watch Video Solution

1. If G is the centroid of AABC and if area of AAGB is 5 sq.unit. then

the area of AABC is


https://dl.doubtnut.com/l/_QMr1DWZqs31q
https://dl.doubtnut.com/l/_gow44z8TKcTs

A. 20 sq.unit

B. 10 sq.unit

C. 15 sq.unit

D. 25 sq.unit

Answer: C

o Watch Video Solution

1. If the centroid of a triangle is (1, 4) and two of its vertices are (4, -3), (-9,

7), then the area of the triangle is

A.180/3 sq.unit
B. 183 /2 sq.unit
C.174/3 sq.unit

D. 197 /2 sq.unit


https://dl.doubtnut.com/l/_gow44z8TKcTs
https://dl.doubtnut.com/l/_FbTDk1SxfP6M

Answer: B

° Watch Video Solution

1.If G is the centroid of the triangle formed by A(6, 1), B(3, 5), C(-1, -1), then

the area of AGAB is

A.19/3 sq.unit
B. 13 /2 sq.unit
C.17/3 sq.unit

D.17/2 sq.unit

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FbTDk1SxfP6M
https://dl.doubtnut.com/l/_azI9nMljCnXt

1.P(3, 1), Q(6, 5) and R(x, y) form a triangle where ZPQR = 90° and area

of ARP(Q@ = 7.Then the number of such points R is

A.O

B.1

C.2

D.3

Answer: C

° Watch Video Solution

Exercise 127

1. P, Q, R are the midpoints of AB, BC, CA of AABC and the area of

AABC'is 20.The area of APQR is


https://dl.doubtnut.com/l/_ytEAlRmdNpTf
https://dl.doubtnut.com/l/_Zaqek5PAcGJi

A 4

B.5

C.6

D.8

Answer: B

o Watch Video Solution

Exercise 128

1.If the area of the triangle formed by joining the midpoints of the sides

of AABC! is 5 sq.unit, then the area of AABC'is

A. 40 sq.unit

B. 20 sq.unit

C.10sq.unit

D. 50 sq.unit


https://dl.doubtnut.com/l/_Zaqek5PAcGJi
https://dl.doubtnut.com/l/_atTVi8bqAA1d

Answer: B

° Watch Video Solution

1.If D, E, F are the midpoints of the sides BC, CA, AB of AABC where

A=(-3,4),B =(-1,-2),C = (5, 6) then the area of ADEF =

A.19/3 sq.unit
B. 13 /2 sq.unit
C.17/3 sq.unit

D.17/2 sq.unit

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_atTVi8bqAA1d
https://dl.doubtnut.com/l/_56PszhwDF6Xk

1.If Ay is the area of the triangle formed by the centroid and two vertices
of a triangle, A, is the area of the triangle formed by the midpoints of
the sides of the given triangle then A;: Ay =

A 3:4

B.4:1

C.4:3

D.2:1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MBfifvh0lYIo

1. If A6, 3), B(3, 5), C(4, 2), P(ax, B), then the ratio of the areas of the
triangles PBC, ABC is

Ala+B|:7

B.|la — B|: 7

Cla+p+2[:7

D.|3a + 3 — 14|:7

Answer: D

° Watch Video Solution

1. If A(6, 3), B(-3, 5), C(4, -2), D(x, 3x) are four points and the magnitude of

the area of AABC is twice the area of ADCB then z =

A.3/8


https://dl.doubtnut.com/l/_6devGROFhXxa
https://dl.doubtnut.com/l/_u2VBKDurfyWZ

B.—3/8
Cc.11/8

D. none

Answer: B

° Watch Video Solution

1.1fA=(-3,4),B(—-1, —2),C(5,6), D(x, — 4) are the vertices of

a quadrilateral such that area of AABD = 2[Areaof AACD] then
Tr =

A.6

B.9

C. 69

D. 96


https://dl.doubtnut.com/l/_u2VBKDurfyWZ
https://dl.doubtnut.com/l/_vXdvW3zZ7O0I

Answer: C

° Watch Video Solution

Exercise 134

1. The point A divides the join of P(-5, 1) and Q(3, 5) in the ratio k : 1. The

values of k for which the area of AABC where B(1, 5), C(7, -2) is 2 sq.units
is

A.7,31/9

B.—7,31/9

c.7, —31/9

D.—7, —31/9

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vXdvW3zZ7O0I
https://dl.doubtnut.com/l/_yg0nIFzAm7jc

1. Let A(h, k), B(1, 1) and C(2, 1) be the vertices of a right angled triangle

with AC as its hypotenuse. If the area of the triangle is 1, then the set of

values which k can take is given by

A.{1,3}

B. {0, 2}

C.{1,3}

D.{-3,-2}

Answer: C

° Watch Video Solution

1If A(zy, y1), B(®s, yo) then the circumradius of AOAB is



https://dl.doubtnut.com/l/_zVDe6G0Sq2Ao
https://dl.doubtnut.com/l/_RC5IxRTaaAJI

OA-OB- AB
Ty Ty

OA-OB- AB
" 2|z1y — zay|

OA-OB- AB

. 4|.’l?1:l?2 :l?zy1|

D.none

Answer: B

o Watch Video Solution

Exercise 137

1.IfA=(1,2), B (2, 3) then the circum radius of AOAB is

A. /130

)
B. 5 /130
C.2,/130

D. /65


https://dl.doubtnut.com/l/_RC5IxRTaaAJI
https://dl.doubtnut.com/l/_lGtAC5x64gOY

Answer: B

° Watch Video Solution

Exercise 138

1. If O(0, 0), A(3, 4), B(4, 3) are the vertices of a triangle then the length of

the altitude from O is

A 44/2
B.7/2
C7/32
D.7/2y2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lGtAC5x64gOY
https://dl.doubtnut.com/l/_dk0kcYPlmuwr

1.a, b, carein AP. and x, Y, z are in G.P. The points (a, x), (b, y), (¢, z) are

collinear if
Az? = Y
B.z = 2>
C. y2 =z
Dx=y==z
Answer: D

° Watch Video Solution

Exercise 140

11f(k,2—2k),(—k+1,2k),( —4— k,6 — 2k), are collinear, then k =



https://dl.doubtnut.com/l/_xqs4g5UO4NxS
https://dl.doubtnut.com/l/_GEYpWJvXB2xE

A.2
B.5
c1/2, —1

D.—1/2,2

Answer: C

° Watch Video Solution

1. If the area of the triangle formed by the points (t, 2t), (-2, 6), (3, 1) is 5

sq.unit, then t is

A1/2,2
B.2,2/3
C.— 77,83

D.1/2, — 1


https://dl.doubtnut.com/l/_GEYpWJvXB2xE
https://dl.doubtnut.com/l/_vlaXzTFn2s1y

Answer: B

° Watch Video Solution

Exercise 142

1. If the area of the triangle formed by the points (1, 2), (2, 3), (x, 4) is 40

sq.unit, then x is

A1/2,2

B.2,2/3

C.—77,83

D.1/2, — 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vlaXzTFn2s1y
https://dl.doubtnut.com/l/_ftysGl3hBV1W

1. The area of the triangle formed by (0, 0), (a”’z, 0), (0, aﬁw) is 1/2a°
sq.unit then x =

A lor5

B.—1lor5

C.1or-5

D.—1lor —5

Answer: D

° Watch Video Solution

Exercise 144

1.If the area of the triangle with vertices (2a,a) (a, a), (a, 2a) is 18 sq.units

then the circumcentre of the triangle is


https://dl.doubtnut.com/l/_8sUwE4kQNIr4
https://dl.doubtnut.com/l/_sDlwoDvlKT4G

A. (3,3)

B. (6, 6)

C.(9,9)

D. (0, 0)

Answer: C

° View Text Solution

1. The area of the quadrilateral formed by the points (1, 2), (2, -3), (-2, 4), (O,

5)is

A. 10 sq.unit

B. 15 sq.unit

C.18 sq.unit

D. 20 sq.unit


https://dl.doubtnut.com/l/_sDlwoDvlKT4G
https://dl.doubtnut.com/l/_NsY9OLvJQYpJ

Answer: A

° Watch Video Solution

Exercise 146

1. If (-1, 2), (4, 1), (7, 16) are the three vertices of a parallelogram taken in

order, then the fourth vertex and also the area of the parallelogram are

A. (-4, 3),16 sq.unit

B. (2,17), 78 sq.unit

C. (-8, 3), 24 sq.unit

D. (10, -5), 36 sq.unit.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NsY9OLvJQYpJ
https://dl.doubtnut.com/l/_w8sII4pt1uNG

Exercise 2 Special Type Questions

1. I : The points (2, -2), (-1, 2), (3, 5) are the vertices of a right angled

isoceles triangle.

Il : The points (2, -4), (4,-2), (7, 1) form an isosceles triangle.

A.only lis true

B.only Il is true

C.both I and Il are true

D. neither I nor Il are true

Answer: A

° Watch Video Solution

2.1: If O is the origin and if A(zy, v1), B(zs, y2) are two points then

OA - OB - cos/ZAOB = z1x9 + 1192


https://dl.doubtnut.com/l/_1L09wZ4IHO4v
https://dl.doubtnut.com/l/_ZgyffaC6SdxS

Il If O is the origin and if A(zy, 1), B(zs, y2) are two points then
OA - OB - sin/AOB = z1xy + y1Yo

A.only lis true

B.only Il is true

C.both Iand Il are true

D. neither | nor Il are true

Answer: A

o View Text Solution

3.1: The points (2, 5), (0, 3), (2, 1), (4, 3) taken in order form a square.
Il : The points ( — a, — b), (0, 0), (a,b), (az, ab) are collinear.
A.only lis true
B.only Il is true

C.both I and Il are true



https://dl.doubtnut.com/l/_ZgyffaC6SdxS
https://dl.doubtnut.com/l/_eA4hpz4iofa5

D. neither I nor Il are true

Answer: C

° Watch Video Solution

4. The arrangment of the following distances between the points in

ascending order is

(4)P(0,0),Q(1,1) (B)P(0,1),Q(0,5) (C)P(3,0),Q(8,0) (D)P(
A.A,D,B,C
B.A,B,C,D
C.B,A,C,D

D.D,C, B, A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_eA4hpz4iofa5
https://dl.doubtnut.com/l/_1TWJq3UPwJKs
https://dl.doubtnut.com/l/_ZZDMfNuEWCI0

5. The arrangement of the areas of triangles formed by the following

points in ascending order is
(A)P(0,0),Q(4,0), R(0,3) (B)P(0,0),Q(5,0), R(0,2)
(C)P(0,0),Q(0,5), R(6,0) (D)P(3,0),Q(0,6),R(0,0)
A.AB,C,D
B.B,A,C,D
C.B,A,D,C

D.D,C, B, A

Answer: C

o Watch Video Solution

6. Arrangement of the areas of the quadrilaterals formed by the following
points in ascending order is
(4)P(0,0),Q(3,5), R(1,1), 5(4,5) (B)P(0,0), Q4 0), R(0, 6), S(1, 1

(C)P(0,0), Q(7,6), R(5,3), 5(5,7)


https://dl.doubtnut.com/l/_ZZDMfNuEWCI0
https://dl.doubtnut.com/l/_IgQQoWWIXZtx

AACB

B.B,AC

C.GCA,B

D.B,C A

Answer: A

o Watch Video Solution

7.1f A=(0,0),B =(3,0), C = (0, 4) are the vertices of a triangle then match

the following

I. Centroid (a)(1,1)
II. Orthocentre  (b)(1,4/3)
III. Circumcentre (c)(0, 0)
IV. Incentre (d)(4,5)
(e)(3/2,2)
A.a,b,c,d
B.a,b,d, e

C.b,c,ea


https://dl.doubtnut.com/l/_IgQQoWWIXZtx
https://dl.doubtnut.com/l/_bF6SRkRL3LFW

D.c,d,e, b

Answer: C

° View Text Solution

8. Match the following

Vertices of the triangle = Nature of the triangle
I. (0,0), (1, 3),(-1,-3)  (a) Right angled triangle
II. (3,4), (3, 5), (6, 5) (b) Isosceles triangle
I11. (4, 3), (-2, 3), (1,-2) (c) Collinear
A.c,b,a
B.c,a,b

C.a,b,c

D.a,c b

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bF6SRkRL3LFW
https://dl.doubtnut.com/l/_4rVxmkeNW6Pr
https://dl.doubtnut.com/l/_kXiwCrzYlhlX

9.1n the triangle which vertices at A(6, 3), B(-6, 3) and C(-6, -3), the median
through A meets BC at P, the line AC meets the x-axis at Q, while R and S

respectively denote the orthocentre and centroid of the triangle. Then

the correct matching of the coordinates of points in List-l to List-ll is

List-I List-1I

(@P  (A)(0,0)
(%)Q (B)(6,0)
(i5i)R (C)(—2,1
(iv)S (D)(—6,0)
(B)(—6, —3)
(F)( —6,3)

(i) (i) (i) (iv)
A'D A FE C
L () (@) () ()

D B FE C
¢ @) () (i) (i)

D A F C
o, (0 (i) (i) - (iv)

B A F C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kXiwCrzYlhlX

10. A : The orthocentre of the triangle having vertices as (2, 3), (2, 5), (4, 3)

is (2, 3)

R : Orthocentre of a right angled triangle is midpoint of a hypotenuse.

A.Atrue,R true and R is correct explanation of A

B. Atrue, R true but R is not the correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: C

o Watch Video Solution

11. A : If the midpoints of the sides of a triangle are (1, 0), (0, 1), (1, 1) then
the centroid is (2/3, 1).
R : Centroid of the triangle is same as centroid of triangle formed by their

midpoints.


https://dl.doubtnut.com/l/_lYY2q9fqhq7y
https://dl.doubtnut.com/l/_NurVo9qMY54O

A.both Aand R are true and R is the correct explanation of A

B. both A and R are true and R is not the correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: D

o Watch Video Solution

12. A : The maximum area of the triangle formed by the points (0, 0),
. . 1
(acos B, bsinb), (acosh, — bsinb) is §|ab].
R : Maximum value of sin @ is 1.
A. Ais false but R is false
B.Ais true but R is false

C.both A and R are true and R is the correct explanation of A

D. both A and R are true and R is not the correct explanation of A


https://dl.doubtnut.com/l/_NurVo9qMY54O
https://dl.doubtnut.com/l/_BlWck0NLgiRB

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BlWck0NLgiRB

